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f =
u(x

¥ X X X X X ¥ X *

*
~

-u’’=f in Q

u=0 onl 1, 0 u/0 n=0 on I 2

0000 w=uw(x) 00000000 n O @ OODOOOOODOOOOO

1, 1={0}, I 2={1} OO0 -u’’=1, uw(O)=w’(1)=0 OOO
)=x(2-x)/2=-x"2/2+x

#include <stdio.h>
#include <stdlib.h>
#include <math.h>

typedef
typedef

double
vector
matrix
void
void
void
void
void

double *vector;
vector *matrix;

f (double) ;

new_vector(int);

new_matrix(int, int);

assem(int, int, int, matrix, vector, vector x, int ibc[]);
ecm(int, vector, double [2][2], double [2]);

output (int, vector);

output2(int nnode, vector x, vector u);

solve(matrix, vector, int);

/* 00000000 =/

double f(double x)
{
return 1.0;
¥
/* main program
* the finite element method for the Poisson equation
*/
int main()
{
/%
* nnode oododnOd (m+1)
* nelmt ooooooO (m)
* nbc 00d0oooODo0oOoOooooO (1 or 2)
* x[] goood
* ibc[] gdoboooooooboood
* am[] [] oooooo
* fm[] gooooa
*
* JO: 00000 oUdO0bObOUOooo100o0obooooa
* ogooo o,1,...,nnode-1
* oood 1,...,nelmt
* JO00O00oooood
*
x/
int ie, nnode, nelmt, nbc;
double h;
vector x, fm;
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matrix am;

int ibc[2];
/* 0000 %/
nelmt = 10;
/x 00000 =/
nnode = nelmt + 1;
/* 000000000 0000ogg =/
nbc = 1;
/x 0000000 =/
x = new_vector (nnode);
fm = new_vector (nnode);
am = new_matrix(nnode, nnode);
/* 00000 (DOOoooooao) x/
h =1.0 / nelmt;
for (ie = 0; ie < nnode; ie++)
x[ie] = ie * h;
/ 000000000000000 =/
ibc[0] = 0;
assem(nnode, nelmt, nbc, am, fm, x, ibc);
solve(am, fm, nnode);
output (nnode, fm);
output2(nnode, x, fm);
return O;
}
/¥ "O00000" --- 0010000000000 */
void assem(int nnode, int nelmt, int nbc, matrix am, vector fm,
vector x, int ibc[2])
{
int i, j, ie, ii, jj;
/* the direct stiffness method (OO DO OO) */
double ae[2][2], fel2];
/* initial clear */
for (i = 0; i < nnode; i++) {
fm[i] = 0.0;
for (j = 0; j < nnode; j++)
am[i] [j] = 0.0;
}
/* assemblage of total matrix and vector (JOOD0,000000000) %/
for (ie = 1; ie <= nelmt; ie++) {
/* 0000 ie OO0DOOO0O0ODODO ae, OOOO0ODODODO fe OOOODO =/
ecm(ie, x, ae, fe);
/¥ ae JO0O0ODODOO00O am, fe JOOD0DO0OO0O00O0ODO fm OOOO0O
x ii: JO00O0O00 i 000000Doooo
*x jj: 000000 jOODOODOOoOoOoOoo
*/
for (i = 0; i < 2; i++) {
ii = ie + i - 1;
fm[ii] += fel[il;
for (j = 0; j <2; j++) {
33 =de v j -1
am[iil [jj] += aelil [j1;

}
}
}
/* the homogeneous Dirichlet condition (OO DirichletODOOO) */
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}

/x OO0 ibc[0]..ibc[nbc-1] OOOODOODOOODOODOOOO

* 0000 (=:ii) 00000000000
*/
for (i = 0; i < nbc; i++) {
ii = ibc[i];
fm[ii] = 0.0;
for (j = 0; j < nnode; j++)
am[iil [j]1 = am[jI[ii] = 0.0;
am[ii] [ii] = 1.0;
¥

/+ 000000, D00000000o00oo0o =/
void ecm(int ie, vector x, double ae[2] [2], double fe[2])

{

}

double fO = f(x[ie-1]1), f1 = f(x[iel);
/* ie00000 [x_{ie-1},x_{ie}] OO0O
double d = x[ie] - x[ie-1];

/¥ 000000 A_e=(<Li,Lj>)
ooboobooobooboooo
(1 -1]

A e=————————————- [
x[iel-x[ie-1] [-1 1]

* K X X X ¥
o

ae[0] [0]
ae[1] [0]

1/ d; ael0][1] = -
-1/ d; ael[11[1]

]

]
=
~N
Q. Q

/* 000000000

oo OonOo =10000

*/

(o, 1]

[0,11]

x"2 dx=(x[ie]l-x[ie-1])/3

x(1-x) dx=(x[ie]l-x[ie-1]1)/6

*
* f_e=((£,L0),(£f,L1))"T
*
* 00000
*  (LO,LO)=(L1,L1)=(x[ie]l-x[ie-11) [
*
*  (LO,L1)=(L1,L0)=(x[iel-x[ie-11) [
b3
* f 0 1 00000
* f [ f0 LO+f1 L1
*
x 10000000000
* (£,L0) O f0(LO,LO)+f1(L1,L0)=(x[ie]-x[ie-1]) (2f0+£f1)/6
* (£f,L1) 0 fOo(LO,L1)+f1(L1,L1)=(x[ie]l-x[ie-1]) (fO+2f1)/6
*
*/
fel[0] =d *x (2 x fO + f1) / 6;
fe[l] =4d * (f0 + 2 * f1) / 6;

/* Gauss 00000000 O00O0O0OOOOOO
void solve(matrix a, vector f, int m)

{

int m1, i, j, k;
double aa;

*/
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/* forward elimination; */
ml =m- 1;
for (i = 0; i < ml; i++) {
for (j =1+ 1; j <m; j+t) {
aa = al[jl[i] / alillil;
f[j] -= aa * £[i];
for (k = i + 1; k < m; k++)
aljlk] -= aa * al[i] [k];
}
}
/* backward substitution */
f[m-1] /= alm-1] [m-1];
for (i =m-2; i>= 0; i—-) {
for (j =1+ 1; j <m; j++)
f[i] -= alil[j] = £[j];
fli] /= alillil;

}
}
void output(int nnode, vector fm)
{
int i;
/* output of approximate nodal values of u */
printf("nodal values of u (DO OO uw OO)\n");
for (i = 0; i < 3; i++)
printf(" i u ")
for (i = 0; i < nnode; i++) {
if (1 % 3 == 0) printf("\n");
printf ("%4d %11.3e", i, fm[il);
}
printf ("\n");
}

void output2(int nnode, vector x, vector u)
{

int 1i;

FILE *fp;

fp = fopen("femld.out", "w");

for (i = 0; i < nnode; i++)

fprintf (fp, "%f %f\n", x[il, ulil);

fclose(fp);

}

vector new_vector(int n)

{

return (double *)malloc(sizeof (double) * n);

}

void del_vector(vector a)
{
free(a);

}

matrix new_matrix(int m, int n)
{

int i;

matrix a;

if ((a = (matrix)malloc(m * sizeof(vector))) == NULL) {



241

return NULL;

for (i = 0; i < m; i++) {
new_vector(n)) == NULL) {
while (--i >= 0) free(alil);

242 }
243
244 if ((ali] =
245
246 free(a);
247 return NULL;
248 }
249 }
250 return a;
251 }
2.2 00O

oyabuny gcc -o femld femld.c
oyabuny, ./femld
nodal values of u (DOOO uw O0O)

1

D W O

u
0.000e+00
2.550e-01
4.200e-01

9 4.950e-01

oyabun) cat femld.out
.000000
.095000
.180000
.255000
.320000
.375000
.420000
.455000
.480000
.495000
.500000

.000000
.100000
.200000
.300000
.400000
.500000
.600000
.700000
.800000
.900000
.000000

H O O O OO0 O0OOOoOOo

0
0
0
0
0
0
0
0
0
0

0

oyabunj gnuplot
gnuplot> plot "femld.out" with lines

1

SN NN

10

u i u
9.500e-02 2  1.800e-01
3.200e-01 5 3.750e-01

4.550e-01 8 4.800e-01
5.000e-01

2.3

HEN

femidout

e main() JOODOOOOOOODOODOO




— mnnode U O OO

— nelmt JO OO

— nbc 000000 OOOOOOODODO 1000 2)
- xJ 00000

— ibcU00O0O0OO0OOODOOOOODOODOO

oboobon

U0 100000000000 000 assemO) UUODOUOODOOODODOOO 30000
goo
l.am, fm 0 0D O OO0OOO

2.0000000000000000000 ae,J00O0D0OO0O0O febDODOOUO
bbbl amObboooodd tmOO000gon

. 0gbooboobobbobbooboobooboob

ecn() 00000000000 0¢ =[2;1,2;) 00000

B ; 1 -1 . /s Lo)ei
A = Ti — Ti—q ( -1 1 > s ( (F Ln)e )

oooooofO

~—~

f(x) = f(zia) Lo(x) + f(x:) La(x)  (z € €)
O 100000000000 g

(fs Lj)e; = (f(@wica) Lo + f(xi) L1y Lj)e; = f(wio1)(Los Lj)e; + f(@6) (L1, Lj)e,-

oo

(Lo, Lo)e, = (L1,L1)e, = (x; — wi—1) /1 22— T —3%71,

0

(Lo, L1)e;, = (L1, Lo)e;, = (x; — Ii_l)/o 2(1 — @) de = T —6$z'—1

ogoooodd
g mim i (26 + f)
o 6 flziy) +2f(x;) )

Ooddgn

.000000000 w(0)=vu(l)=000000000000
. 0000000000 w(0)=a00000000000
. 000 Neumann OO /(1) = 00000000000

. —(p)Y=f00000000C0000000ODODODOOOOOO



